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1) What you want to do / know does not always align with
the tools at your disposal

--> models are built on assumptions (when are they
true?)

--> data is built on what you can measure (and it has
error!)

2) When given data, one goal is to understand: do the
assumptions of my model seem to hold here?

3) You answer this question by visualizing your data
--> make a chart or a plot of your data
--> Note units, axes limits, context

4) For the exponential decay problem, what do you notice
about this data?

-> |t does not decay to zero

5) Does the observation it does not decay to zero match our
assumption that all atoms decay?

--> Nol



6) What could be the mismatch?
--> Maybe some atoms are not decaying

--> Let's estimate how many are not decaying (this is not
always easy! But we can do it here)

7) Ok, subtracting off the 'inert' atoms, how can we estimate
decay rate?

--> There are many options!
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